e ,
v\'-";”ﬁ’sc ?WGCX‘, QDiOdWLﬁuk(yeﬂ 3 Po 0T

T Pdvonced Sieneticand R 2016-11
< \

QP Code : 77085

\\
(2 2 Hours) [ Total Marks :75.C>
\ V
oz
: O
N.B. : (1) /\'Il the qucsuons' are .con'lpulsory. Choice is internal. A
(2) Figures to the right indicale ful] marks, A
(3) All questions carry equal marks, o
(4) Draw flowcharts / diagrams wherever necessary. A
O
O
N
Qv
4. (A) Choose the MOST appropriate cpticn (Any Three) 3

(i) Why is an RNA primer necessary for DNA replication?
(a) RNA primeris necessary for the activity of DNA ligase
(b) RNA primer creates the 5' and 3' erds of the strand
(c) DNA polymerase can only add nucleotides to RNA
molecules 7
(i) If a mutation occurs in a cell such that, normal Okazaki fragments
were created during DNA replication but were not linked together
into a continuous strand, the ge(rrq;\ or enzyme could
have been altered by this mutza}idn.

(a) DNA polymerase ,\\\)
(b) helicase (‘}'
(c) ligase 4;}- '

(iii) DNA replication is sa'i\Etho be semiconservative because
(a) both RNA\gz)\\"d DNA synthesis are involved in the process
(b) anew dpuble helix contains one old and one new strand
(c) each né?g strand is complementary, not identical, to its
template
(iv) The type c\)\fmutation mos!t commoniy associated with exposure
toUV lightis
(a)~’thymine dimerization
(é‘) " base deamination
(¢) depurinization
: (vl\(},(\ornberg enzyme is a term used to depict DNA Polymerase .

' (\(:5’ (a) I (b) 1I (¢) III
oé‘/‘i) Primosome does not contain __ :
Q\\ (a) DNA Polymerase
,\\ (b) RNA Polymerase
\\qy _ (c) initigtor protein
Ve
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. (}) Respond in brief to any one:
(i) Give the role of alkyl transfe
(ii) Enlist the requirements for D

rase. ,
o

NA replication. O
)
(C) Answer the following any one: , . V;\
. b . by mismatch repair mechanism )
(i) Explain the mending of DNA by d to explain the model ngDNA
v

(ii) Pioneering experiments were conducte
replication. Elaborate on the same. ‘;\
\_‘—) 6

(D) Attempt any two: &
(i) Discuss excision repair o N)
(i) Explain the mechanism of DNA replication in prokaryotes

2. (A) Choose the MOST appropriate option (Any Three)™
(i) What s true regarding RNA processing? Ay
(a) Involves removal of exons '
(b) Involves removal of one or m
's)

(c) Occurs in prokaryotes N
~
')

I

A A
die introns
Y

(ii) Genetic code is degenerate, m(ﬁ?;ﬁé
(a) RNA israpidly degraded
. N .
(b) code is not univers Damong organisms
(c) some amino aciAd*syhave more than one codon
% -
N - M. . .
(iii) The strand g\':f IJNA has similarity with RNA nucleortide
sequence ij”

except for diffefence between T and U.
(a) non-t\;)!’mplate (b) non-coding () template
o .

(iv) Alt_ernatex\splicing,is a characteristic feature of
(a) QE.Coli (b) yeast
N :
Vv
(v) Sh@.é-Dalgarno sequence is present on
LW(a) mRNA (b) rRNA
(ij‘oRecycling of EF- Tu, involved in translation requires

/\q/Q (a) EF-Ts (b) EF-G (c) EFTg
S

2. (B\QO’Answer in brief any one :
™ (i) Which process of the Central Dogma does Rifampicin and

A
Aq/b‘ Puromycin affect and how?
/\\c/_) (i) Define: Polycistronic
&v KS-Con. 3601-16.
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(c)  humans

(c) ribosome
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Cc) Write short notes on gy, b
2. ( : : Y one of the follow: 5
(i) Charging of " ollowing; o)
SMEOTRNA (i) Splicing \2
) (D) Answer in detail any two: (f/
(i) Elaborate on mechan; . A
(i) Discuss post-trar 1an.lsm of transcription, A 6
1$lational modificatiops in detail =7
Ia) \/J
3. (A) Chcz;))se the MOST appropriate option (Any Three): >
—__enzyme lead 4 oo ' J'o” 3
(@ Esterss S to split of sugar phosphate b({)\mjls)
(b) RCStriCtiOn enzyme
(¢)  Polymerase
"
ii) pUC contaj 9
(i) p @) Ontam.s gene for __ resistance)
penicillin () ampicilin . {c) streptomycin
(i) Terminal tf?:lrlef:rases catalyses add‘iiic\)n of nucleotides to
(a) 3 terminus of DNA r{\/‘)
(b)  5'terminus of RNA
(¢)  3'terminus of RNAN
D
(iv) Type restrictiop\(qi\f%ymes cut at a site that differs, and is
aro(ur;d 1(;00 bp'awa@rom their recognition site.
a ANby. I (c) I
| &
(iv) BACisa pref@md vector.
(a) clo‘n?n'g
(b) _shuitle
(c) vrecombinant
Q’; :
(v) Re\f'-;()r\—se Transcriptase is used for synthesis of
(@)  DNA from RNA
V' (b)  RNA from DNA
v (¢)  RNA from protein
Q)
P
(B) (fm;\nswer in brief any one: _ . 2
\V (i) Enlisttwo characteristics of an ideal plasmid
/\\ (ii) Define: Cosmid
N
7
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(C) Anawer any one of the followlng:

(}3 Desertbe how RDT hay rovolntiontzed modiolne, | ‘
() Write nshort note ong Probes NG
0
(D) Attempt nny one: L0
(1) A variety ol‘u-lm@ln;s. veetors nre nvallable oneh with apoul (i : \\
characteristies, Blaborute on the nhove stntement, \
(i) Elaborate on vestriction endonuelgnme, '
0
4. (A) Choose the MOST approprinte option: (Any ‘I'hiree) e y
(1)~ Which of the followlng ltbrarlos would be expectoditd be ensentlally
the samo?
(a)  Genomic librarien made from mouse livor and
kidney cells \
(b)  ¢DNA libraries made from mopso Hver and kidney
cells (\,;
(¢) Genomic and ¢cDNA libraries mude from mouse liver colly
(i) CaCl, helps in \!
2 NEI| e s -9
(a) transformation .'\\\\
(b) PCR .
(c) microinjection (W\\\,-.\
AV
C _ o
(iii)  Transformed cells i,l{‘p‘?'cscncc of X-gal give ___ coloured
colonies. o
(a) white f;-f” (b) Dblue (¢) clear
&
(iv) «Kary Mulljgdiscovered technique. '
(a) Electrophoresis (b) PCR -+ (¢) Southem blotting
\\
AN
. ON
(v) (ﬁ,egfc gun technique helps to overcome the problem of
o
- (a) Complex structure of animal cell
o (b) strongcell wall of plant cell
(\Q\ (¢c) peptidoglycan ccll walll of bacteria ' ]
(Vi) is often used to describe virus-mediated gene transfer into
Q\q/ cukaryotic cells.
/\\ ' (a) Transformation
q;v« (b) Transfection
%4 (c) Transduction
AY [TURN OVER|
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(B) Dcf-'mc /E?XPIG”‘ [.he. terms any one: 2\(\9
(1) ectroporation (i) RT-PCR A
©) write short notes on any one: ,\\\k)‘4
(i) Use oflantnblotics for selection and screening o
(ii) Gene library
(D) Elaborate on any one: \\ i
(i) RDT ;eqmrefs cell amplification for cffective results. Lyiscuss a
(i) Discuss the technique of Southem blotting
3
(A) Answer any one: g3
.5' ‘ (i) Why is SOS repair error prone? A\
(i) Justify: Replication is semi-discontinous.™
(B) Write brief notes on any one: o 3
(i) Modifications of tRNA £
(i) Termination of translation ﬁ;-_\.‘
. \:\)\.
(©) Attempt any one: " . 3
(i) Whatis role of reverse&r\gﬁscriptasc in recombinant DNA
technology? S
(ii) Write a note on BAC.
] o
| A f 1 . \O(;. 3
) Write a brie 1.10. e a‘nZ one:
5 (i) Microinjectiot
o (i) Chimeric DNA
N
(E) State true or fa.\i‘;‘e (Any Three): - _ o 1 3
. ) YA Rexhibits the lytic and the lysogenic phases in their life cycle
ii DN is bidirectional in nature.
i) ADNA fork is bidirectiona :
((iii) fhe C end of a protein is synthesized first followed by the N end.
(iv) ‘C\Eco RI produces blunt end‘s.
(..{97\‘ c-DNA library contains spliced RNA .
QV"i) Sigma factor is involved in termination of translation.
0\
v
N
& e
S
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